ﬂé Division (International) with a Hel per Grid Name:

Solve each problem. Answers
) 307 : 6 = 2 593: 3 =
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3.
4,
5.
6.
3) 276 : 4 = 4) 576 : 8 =
5) 112 : 8 = 6) 402 - 7 =
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ﬂé Division (International) with a Hel per Grid Name: Answer Key
Solve each problem. Answers
1) 307 : 6 =051r1 2 593 : 3 =197r2
-0 -3 1. 51rl
130 T2]9
0|7 23
-6 -1211 3. 69
1 2
4 72
5, 14
6. 57r3
3) 276 :14 =0609 4) 576 : 8 =072
hlY ailY
2.7 57
-124 - 5|6
36 16
-1316 -11/6
0 0
5) 112 : 8 =014 6) 402 : 7 =057r3
-9 - 0
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-8 - 3/5
32 52
-3 2 -14/9
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